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	Prof. Dr. Peter Schmidt
school of business and management
http://www.fbw.hs-bremen.de/pschmidt


Economics I  (resit)  Microeconomics (EFA)
Tuesday, May 16th 2006    (90 min.)
Please note: 

· At first please check the exam paper: are there 8 pages / all pages well readable?

· Please only work in the exam paper; use the boxes for your answers. You do not need own paper. 

· Your calculations should be shown. The complete solution method must be traceable! 
· They can achieve 90 points – in 90 minutes! => one minute is approximately worth one point; please consider the indicated scores.  The tasks are formulated that way that usually short answers are required. Therefore do not spend too much time with "inferior" tasks!  

· Permitted are:  Pens, ruler, calculator (without word processing function), dictionary German/English and the German-English glossary of Mankiw provided in class. 
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Please do not use a pencil (except in diagrams) nor red pens.
· Mobile Phones have to be switched off !
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1 There are (at least) two possible economic systems to aim the prinicipal objective of every economy - which? Describe the basic ideas of the systems and argue why one of them can be called “better” from a theoretical point of view. 
[6 points]

2 Principles of Economics 
 (10 points)
2.1 Why do we have to operate economically? 
(2 P)
2.2 Mankiw states in his Principles of Economics: “Markets are usually a good way to organise economic activity“.   Explain this theses using the economics theory. 
(4 P)
2.3 Another principle states: „Governments can sometimes improve market outcomes”.
Explain this statement with respect to your argumentation in question 2.1. (What are the preconditions under which governments should intervene in markets?) 
(4 P)

3 Economic Concepts
[20  points]
3.1 Assume that Samuland produces guns and roses with inputs of labor. Samuland has 1000 hours of labor available. A gun requires 10 hours of labour, while a rose requires ½ hour. Construct Samulands production-possibility frontier. Explain the graph. 
[8 pt]
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3.2 Describe the concept of the “invisible hand of the marketplace” in your words and modern terms? Who invented this metaphor? 
[4 pt]

3.3 Explain the two main causes of market failure and give an example of each. 
[4 pt]

3.4 “The market price is an indicator of scarcity” – Explain! 
[4 pt]


4 The following shows the demand equation for a product: 
[18 points]
                                               qd = 1200 – 5p     where p is price in £     (qd = quantity demanded)
4.1 Create a demand schedule in the table below and show total revenue (TR): 
[3 pt]

	Price
	0
	20
	40
	60
	80
	100
	120
	140
	160

	qd
	
	
	
	
	
	
	
	
	

	TR
	
	
	
	
	
	
	
	
	


4.2 Explain the shape of the TR function (where does it increase/decrease – why?)
[3 pt]

4.3 Plot the demand curve from your schedule on the graph below: 
[3 pt]



4.4 Show approximately which part of the demand curve is elastic and which inelastic - explain. 
[3 pt]

4.5 The supply function is qs = 200 + 5p. Compute the market equilibrium.
[3 pt]
4.6 Show this equilibrium in the graph. 
[3 pt]

5 A monopolist faces the following situation: 
[20 Points]
              AR: p = 12000 – 10 q            Cost function: TC = 2000 + 5q²

a) Show this situation in a diagram:
( Average Return AR,    (  marginal Costs MC,   (  marginal return MR and    ( the Cournot point. 
[4 p]
(Remember to draw exactly and also remember to correctly label the axes).
[image: image3.wmf]
b) Calculate the optimal profit 
[3 Points] 

c) Compare the welfare (measured in consumers and producers surplus) in monopoly and in Perfect Competition. (Remember to draw exactly and also remember to correctly label the axes).
[5 Points]
[image: image4.wmf]
d) Compute the welfare for both cases numerically: calculate the respective consumers and producers surplus and also the welfare gain or loss. 
[5 Points]
e) Interpret the result in your own words.  
[3 Points]

6 Consider the dilemma of maintaining free trade shown in the payoff table in the following figure, which gives total real national incomes (in bn) for two countries as a function of foreign-trade policies. Each country can have a policy either of free trade with no tariffs or quotas or of protectionism with high tariffs of imported goods and services. The payoffs are the real incomes in each country. 
[9 Points]

[image: image5]
a) List the four outcomes, describe each regions national income, and calculate world income for each situation. What are the economics names of the situations * and (  ?
 [5 P.]
b). Describe how countries acting noncooperatively (without agreements and in their own selfish national interest) will be led to a trade war. What will be the result (which cell) and what will be the world total income? 
 [4 P.]

7 A petrol station intends to increase profits. There are fixed costs of 15.000 and variable costs of 1.50 per liter of petrol. Currently 50,000 liters are sold with a price of 2.00 Euro. Market research shows that the demand would be 52,500 with a price of 1.80 Euro and 45,000 liter with a price of 2.40 Euro.
[7 points]
a) What is the price elasticity of demand? Is demand elastic or inelastic? 
[4 points]
d) Do you recommend an increase or a decrease of prices? 
Explain why and show the opposite situation. 
[3 points]













Good Luck !
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